Grade 9 Math Name:
Exam Review

i \

1. Predict the correlation for the following examples: N
a) amount of gas left in the car versus the distance driven \ Q:)‘-hve'
b) push ups you can do versus the number of socks you own A9 colfe ‘*"‘o"\

c) how long you study for an exam versus the mark on the exam melk ‘ /

2. Using the following data, make a scatter plot on the graph paper provided. Make sure the label
your axis, include a title and draw a line of best fit.

mtha, Speed (km/h) | 40 50 60 70 80 90 100 120 140 160

Stopping
d'ﬂ"l"hf Distance (m) 12 14 21 35 41 51 62 84 122 159

gtgu,l v$ dff’lnncg

160 IA
A ISo
a) Describe tween speed
and stopping distance. € (3o
“-—: “/
LY B J
.S‘ W e \ir-“( o /
aq 0O z /
b) What are the independent and o
dependent variables? L
£ /
L y/
~ A
¢) Use the graph to determine the stopping 3e //’
distance for a speed of 85 km/h Lo A
0
l'mm _t 1""\ g 10 1030 Up S0 (0 70 $0 %0 199 o 120 1Y Np Kol(o
$ pu.J U( m/ '\’

3. Complete the following table:

VVolume of pop (mL) Amount of sugar (q) First Difference
250 20
300 30 3y 20 -

350 40 S 4 -30 = 16
400 50 N/ Te-ue =10
450 60 —/ [6e-50= (0

Is the volume of pop and amount of sugar a i or non-linear relationship? Explain how you
know.
Qif\‘lq(, Fist d€feloney ae the <Sa mC
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| BEDMAS
4. Solve and answer in lowest terms.
a) 25433 b) 4_22 0 alx2 4 d) ﬂ+ §X__)
BB ag o daw i
4 | X
xl%‘f I'L :l. %’ -E’_ T4 a1 I3
. -6( 26 1_923 = 23 =27 ‘8_-75-;_"":""
12 u. In T %% 1 sx§ 95 13 13/ 6
5. Simplify the following expressions using power laws and express as a positive power. Do not
evaluate.
) @) | ) (22 0 Th ) 0 (&)
yreree n3" _ 82«3)-'{ 2y HS
LI ¢ (\"6 1, l 6, ¢
n X

6. Simplify and evaluate (if possible). Show all steps '@
4 95 2 3 _
(B2 e
(=) ), e
'- 1 \ ll
1 —  em—
Y 3" ? l

~

Simplify the following

a) 5x2=2x + 1 — 3x2=6x— 8

Sk -3x -2y —bx -84 r
2x "9t -bxy L 3t

6x7g = 3xy*™

®©

Expand and simplify if possible

a) X2 (X +Y) + 2y(x — 3x?)
. 2

“bx™y

Sx*Y

X ® #xq'y szy

e 4—ny_

L

G)

b) 2xy 6xy? +4x

"
We o
;

\—.\.

W CBxy?)

b) 2x(3x —2) — (2x? — 3) + 5x?
<> <27

Oy ®- Ux=-2xT+34Sx*

At -YUx+2
c— )

d) (2x%y")(@x*y®)
~—~7

g’(éja(

(3x +7X)-(X*-X)
2X

5 Lvl--l,(..,(l{-x




Grade 9 Math Review Page 3

9. Factor the following polynomials completely.

a) 8abc - 12ab, b) 15a%b®— 12a%h C) 6x2y%z + 12xy°z
b(zc-3)  SH(SHHa cuy2(ey+2)
10. Solve the following equations and shew-work:
a) 7Xx—4x=x-10 b) 4(x—2)—(x+3):x—1 b—+1:b—22 +1
|
Ix-Hx-x=-10 U8 -%-3=x- Lep =t 3
2x =-10 f’*“? ‘ b=-2) +4(1)
X=-10 5X | '6'(’3'9 J{ .-I:)
'___‘X:-ZY 3&-—)(--44-“ z(l,l—l)-'— 3(’5{-—2)4’6
11. Solve for x if the area is Zx=10 7 =
x =10 (x:s’ 154—2.:‘5!976/@“
i | >
’ G S \?/35 2
= (3x-2)\z —29-
3x -2 7—7 A xw) 2=b

Y= 6= -4

Slope and Modeling Linear Equations | +4 = 6x —/'S x=3

18=6x
12. Use the formula to find the slope of a line that passes through the points
Xy " X1 y A T
a) A2 7)and B (-2, -5) b) C 8 -6)and D (3, 4F
m:?;‘]n—~-§7_/ll:3 mo Y. (-6)-—_!2_:_.1
Xe =¥y -2-2  »Y 3-¢ -S
13. Graph the line from the information provided below. Write the equation of each line
¥ _lorise >mz-2—2 15€
a) point A (-2, ?) and = 1, & ""Z . b) x-intercept = 1<nd m= {2/ 1 = fva
Hiwr -
_— — \ N\

— A R TN
N = ; // ! ! Eiw
y:"\ >(+la ”

7:12" v ' U-:.mwrh
7_;..}¢rce.‘ol» =0 ys-2x +2
b=0
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14. A t-shirt company charges a flat fee of $60.00 to set up the print machine plus $20.00 per t-shirt.

a) Graph the relationship described above. Remember to label your axis with units and include

atitle. cost vs. #Hshifds cost/bec
30s é
5 H+.shels

140 10

N

0 I3 4y\ 6731100121315
4 L-shirls

b) Calculate the slope of thig line and state the equation for the line (use ‘C’ for total cost and ‘n’
for number of t-shirts). Show all calculations.

C:ZOV\*G \

_ ——

c) Explain what y-intercept represents in terms of the given problem?

kgl wst of 460

d) If the initial cost stayed the same and the cost per t-shirt increased by $5.00 per t-shirt,
compare the new graph with the original graph? Explain what would change or stay the same

about the slope and the y-intercept and why.

» mole 5[‘02‘9
. 20a becomes 28n

Remember to practice telling a story from a graph. You have lots of examples in your notes.

O(Ej*"ﬂncfz Fime 7@9&'5
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Equations of a Line
15. Given the following information graph the line a state the slope and y-intercept:

3’?%“ b) A ? :4,1 B ’:5,3 2 = o
a m=— = —4 -1,- y C =£X _1 ~
) 2 o2 )A(-1-4) B(34) A )y , \ - v
/ /
: /
[ 4
— T ) \ ‘)
W / N
4 T 7
74 mEE. |
- Yo | L 1) VAR
Slope =~ 3/4 Slope=_" a=2 / Slope = z
y-intercept = -4 y-intercept=_ -2 y-intercept=_ -1
'7: 2x-2
16. Using the equation for line A, graph line A. Using the information for line B, graph line B on the
same axis. Determine the equation for line B: A
> 3 —vite y - |
a) LineA: y=3x-4 | —fen ’ /
Line B: a line perpendicular to line A and passing .
through the point (3,-1) - | =rise B I
3 —(vn \\ 5
Slope of line A: 3 \.___
\ , X
Slope of line B: __ 3 4 L -2 A
( =2
Equation of line B: ‘1 = =X I g
—3 ] !

b) LineA: y=2
Line B: aline parallel to line A and passing through
the point (-2,-2)

Slope of line A: O

Slope of lineB: (0

Equation of line B: ;7'7- -2
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17. Graph the following equation by determining the x and y intercepts Y ,(-'L’;.IL- o
\
4x—2y+12=0 /
x-intercept: S et ;7'-:0 L{x-zéj +12=0 / 4
) zo” /
(x,0 Yrti2=© /2

Ue=-\2
— X
y-intercept: gc"‘ X=0 E -4/-2 2 | 4

(0/ 7) qw-z.ys-n.:o / 2

-ly=- 12 . )
y=_2 -
-
18. Graph the following equation b deter':nlnlng the slope and the y intercept Y~ 2x-S
Ax+891(=0 —5 Yz=rmxt . -
6x—-3y-15=0 y /
-x¥ -3 =3 : /
y=2x-%
— — ,. : )
Slope= Z- —>1%¢  yiintercept= — S R X
‘ —_— v =9 /
A ﬁ
Vs

19. Write the equation of a line for the following descriptions. Show all calcugatio S. [
M= 1=
T 3

a) Write the equation for a line that is perpendicular to y @jznd had the same y-intercept
as2x+3y =6. Give your final equation in slope and y-intercept form.

Viset x=0 kj::vv\x’rb

2&}({4’3 Y= 6 l
39y = [ \ﬂ: — X ~|'L
=% |22 e
3
b) Write the equation for a line that passes through the points (2,-4) and (3,1). Give-yourfinal
equation in standard form. X\ Y X2 Yo m

M= 73. y.« — ""(—-H) — 5_ ‘?’0 F?.-..o( b, vS e any r:ﬂ:H'
- ! s (3)+b >
X, X 3 -2 - 1=5 g _
M=
_ 1—|§.:lo §->< -“'j —|('{':O
7"(:%4”&) I..-JL;;]D { Ax+ By C=O
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20. A bowling alle ixed base cost and charges a variable per game rate. It costs $20.50 for five
28.50 for nine game

games an = 28.50-2050 _ 3 >

4

¢
b) Write the equation of the line in the form C-=mg—+t—where C is cost and g is number of
games C:'Lg-l'b 29.50-10 =k
c) What is the initial cost to bowl? i/ [TD?:—ID—] C =29+l 0.S0

a) What is the variable cost (cost per game)? 9-

20.59 = 2 ( S )-I’
20.50 = lo L
21. Graph each equation of a line and determine the point of intersection from the graph. Then check

algebraically. ~ 1= cise - 9= éh *-35
2 | = rua / "j = S5xX = v
Equation A; y=—x/+5 3x—y:3\,3—:.‘> \
(z- > "I—d) o ; [
Point of intersection using your graph: )3 - j

X:Zy:3 2 \

Check your answer:

G X
Check equation A Check equation B: 4 -2 ﬁ\ 2 4
LS. = R.S. = LS. = RS. = 1/
L 2y
Y= - X1 S Y=5x-1 5
3:3'2*9 2= 3(2)-3 I/
2= 1= 63 S- 25 '
22. Josh is trying to determine which package he should use for his cell phone. Cell-u-lite offers
‘Package A’ that has no initial cost with a monthly fee that is $30 per month. They also offer
‘Package B’ that has an initial cost of $50 and a monthly fee of $20 per month
a) Write an equation for each situation: _
- = Q N7
Package A: C, 30 M Package B: C g 0+ Z Mmoo

b) Graph each relationship on the same set of axis. ﬁ IS
Make sure you label each line. 100 RN
(5, 150)

1{o
lbo
LY

c) What is the point of intersection?

d) What does the point of intersection mean?
FyoTL\ CoM(an‘\LS at W\Oh“‘ 4:/5,
q(e %oin Fo chalne the

same  gamount (§(Go o
"o n »(1) //

\/ e) Which package would be better if Josh only plans

Cos /~

to use the phone for the 2 months of summer?
: Lo
Explain. = 259 ‘O&d&ﬂ L
50("\:90')"2'01/“ ry 0 12 34ys &6 7 89410711

30 r-10 m= 50 @\—ﬁ ZL\_@Q@@((%O A
0M=50 Vs %g\o
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Geometry

23. Calculate the unknown dimension or value for each of the following: Show all your calculations.

Hem MC"‘ Perimeter = 36 cm Length of side: s= M/(W\ Area = f?éfhﬂi
=7 st54¢=36 p-byh — Sx 8Y
L: 190 7s =36-% 7 5
78 =1%
80m Y -
— | l/l?"“( = y* S$=2% P( — Sgé
h* Iyt -y Z
Ko< "IE" 8:!"]
2 8cm Volume =388 cm®  Height: h = 177 ¢ gurface Area = ERY
=1
r=4 V= A " SA= ARG KON
BEPEN
n=? 348=T (4 h sa= ()27 ( H)(??Z)
— ) SA= 2,5 cm®
T lo
=711 cm

24. Lisa is building a toy box with a lid that is the shape of a square based prism. She has 12 m? of
plywood available to build the box (surface area equals 12 m?). Use the table below to determine
the dimensions of the toy box that will prowde he maximum volume of the box.

SA—2bt=
Surface Area = 2b2 + 4bh 7 SA-25"_ |, Volumm
Hbo v
Base (b) Height (h) Surface Area VVolume
im 1T1([[|))__ 2.5 12 m2 %28 = 2.5
1.2m - ﬂllfla: 1.9 12 m? (t:2)14= 294
14m S = 1YY 12 m? (10" 144 = 2.92
6m | o= 107 12m? (16)%1.07= 2.7

— 1
a) Dimensions of the toy box: |4 mx|Hmx Y — (v b

b) Maximum volume of the toy box:
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25. Solve foy x and y as required. Show your work and justify your answer.

= 149 2-potteln
b) v
l?o-_-i‘ll-“ | G U0 ige-uo
=% : ; J ':“,0
/50" y
|
130 - 84- 60=x 180-90-60
=Ho

X= 3\

Bo=Ho+Yy + Zx+§

> 180 -H9-$ =Y +2X zlg'.-.7+6x
lf&':‘)*zx A O 1352972

130436 = +6X 80 - x
25z 9tbx|s

é//4zo:x

sub bm.k 'm“'o Ctvqu?l?h 4 ol 6

135= +2(20)
135= \14*‘(9

ISE&__;_}.

> o= Y+ bx-36 50= UX




